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Chapter- 3

ADDITION

WORKSHEET
. Solve:
A. Estimate the following by rounding off to the nearest 10.

a) 956 b) 6875

B. Estimate the following by rounding off to the nearest 100.

a) 3760 b) 5982

C. Estimate the following by rounding off to the nearest 1000.

a) 4992 b) 1855
D. Add the following numbers.
a) H T O b) H T O
4 7 6 3 8 5
+ 5 03 + 3 1 3

E. Express the following numbers in figures and then add.

a) Seventy three thousand forty five, four hundred ninety six, thirty two thousand sixty two.

b) Thirty nine thousand two, seventy six thousand five hundred nine, Two thousand twenty.
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Il. Do as directed.
A. Add the following numbers.
H T O
4 6 7
+ 2 7 3

B. Find the sum.

C. Add the following numbers.
8 1 4 9 38

1 1 2 2 5
+ 6 5 2 7 3

D. If 4508 men, 2987 women and 1395 children live in a village, what is the total
population of the village?

ANS.

E. Write in ascending order and then add.

F. 54932 + 2489 + 54873 and 8649

- END -
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